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	 	 	 	 τ	=	60

MNO

λ 0�006 0�00<<H 0�06 0�6 6�0

η S�R⋅	60/< 6�?>	⋅	60/? >�?⋅	60/< 6�T⋅	60/6< 6�6⋅	60/6?T

	 	 	 	 τ	=	?0

MNO

λ 0�006 0�00<R> 0�06 0�6 6�0

η 6�>	⋅	60/? ?�>R	⋅	60/? 6�6	⋅	60/? 6�0	⋅	60/6< ?�>	⋅	60/6??

	 	 	 	 τ	=	<0

MNO

λ 0�006 0�00<>6 0�06 0�6 6�0

η ?�<	⋅	60/? <�=S⋅	60/? 6�S⋅	60/? 6�=⋅	60/6? >�>⋅	60/66=

	 	 	 	 τ	=	R0

MNO

λ 0�006 0�00<>= 0�06 0�6 6�0

η <�0	⋅	60/? >�?T	⋅	60/? ?�>	⋅	60/? >�0	⋅	60/6? 6�?	⋅	60/66<

	 	 	 	 τ	=	>0

MNO

λ 0�006 0�00<T> 0�06 0�6 6�0

η <�=	⋅	60/? T�S	⋅	60/? <�?	⋅	60/? 6�R	⋅	60/66 ?�S	⋅	60/60H
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